Introduction to Association Schemes Part II

Akihiro Munemasa Tohoku University

June 16, 2014 Algebraic Combinatorics Summer School Sendai

A coherent configuration

is a pair $(X, \{R_i\}_{i=0}^d)$ where $\{R_i\}_{i=0}^d$ is a partition of X imes X

(i) $\{(x, x) \mid x \in X\}$ is a union of some R_i 's (ii) $\forall i \in \{0, 1, \dots, d\}, \exists i', R_i^\top = R_{i'}, \text{ where}$

$${R_i}^ op = \{(x,y)\in X imes X\mid (y,x)\in R_i\}.$$

(iii) $orall h, i,j \in \{0,1,\ldots,d\},$

 $|\{z\in X\mid (x,z)\in R_i,\; (z,y)\in R_j\}|=$ constant

A coherent configuration

is a pair $(X, \{R_i\}_{i=0}^d)$ where $\{R_i\}_{i=0}^d$ is a partition of X imes X

(i) $\{(x, x) \mid x \in X\}$ is a union of some R_i 's (ii) $\forall i \in \{0, 1, \dots, d\}, \exists i', R_i^\top = R_{i'}, \text{ where}$

$${R_i}^ op = \{(x,y)\in X imes X\mid (y,x)\in R_i\}.$$

(iii) $orall h, i,j \in \{0,1,\ldots,d\},$

 $|\{z\in X\mid (x,z)\in R_i,\; (z,y)\in R_j\}|=$ constant

An association scheme

is a pair $(X, \{R_i\}_{i=0}^d)$ where $\{R_i\}_{i=0}^d$ is a partition of X imes X

(i) $R_0 = \{(x, x) \mid x \in X\}$ (ii) $\forall i \in \{0, 1, \dots, d\}, \exists i', R_i^\top = R_{i'}, \text{ where }$

$${R_i}^ op = \{(x,y)\in X imes X\mid (y,x)\in R_i\}.$$

(iii) $orall h, i,j \in \{0,1,\ldots,d\},$

 $|\{z\in X\mid (x,z)\in R_i,\; (z,y)\in R_j\}|=$ constant

An association scheme

is a pair $(X, \{R_i\}_{i=0}^d)$ where $\{R_i\}_{i=0}^d$ is a partition of X imes X

(i)
$$R_0 = \{(x, x) \mid x \in X\}$$

(ii) $\forall i \in \{0, 1, \dots, d\}, \exists i', R_i^{\top} = R_{i'}, \text{ where }$

$${R_i}^ op = \{(x,y)\in X imes X\mid (y,x)\in R_i\}.$$

(iii) $orall h, i,j \in \{0,1,\ldots,d\},$

 $|\{z\in X\mid (x,z)\in R_i,\; (z,y)\in R_j\}|=$ constant

Definition A symmetric association scheme is a pair $(X, \{R_i\}_{i=0}^d)$ where $\{R_i\}_{i=0}^d$ is a partition of $X \times X$ (i) $R_0 = \{(x, x) \mid x \in X\}$ (ii) $\forall i \in \{0, 1, \dots, d\}, \ R_i^\top = R_i$ where $R_i^\top = \{(x, y) \in X \times X \mid (y, x) \in R_i\}.$

(iii) $orall h, i,j \in \{0,1,\ldots,d\},$

 $|\{z\in X\mid (x,z)\in R_i,\; (z,y)\in R_j\}|=$ constant

A symmetric association scheme is a pair $(X, \{\mathbf{R}_i\}_{i=0}^d)$ where $\{\mathbf{R}_i\}_{i=0}^d$ is a partition of $X \times X$ (i) $\mathbf{R}_0 = \{(x, x) \mid x \in X\}$ (ii) $\forall i \in \{0, 1, \dots, d\}, \ \mathbf{R}_i^\top = \mathbf{R}_i$ where

$${{oldsymbol{R}_i}^ op} = \{(x,y)\in X imes X\mid (y,x)\in {oldsymbol{R}_i}\}.$$

(iii) $orall h, i,j \in \{0,1,\ldots,d\}$,

 $|\{z \in X \mid (x, z) \in \mathbb{R}_i, (z, y) \in \mathbb{R}_j\}| = \text{constant}$

A symmetric association scheme

is a pair $(X, \{R_i\}_{i=0}^d)$ where $\{R_i\}_{i=0}^d$ is a partition of $X \times X$ whose adjacency matrices A_0, A_1, \ldots, A_d satisfies

(i)
$$R_0 = \{(x, x) \mid x \in X\}$$

(ii) $\forall i \in \{0, 1, \dots, d\}, \ R_i^{\top} = R_i$ where

$${R_i}^ op = \{(x,y)\in X imes X\mid (y,x)\in R_i\}.$$

(iii) $\forall h, i, j \in \{0, 1, \dots, d\}$,

 $|\{z\in X\mid (x,z)\in R_i,\; (z,y)\in R_j\}|=$ constant

A symmetric association scheme

is a pair $(X, \{R_i\}_{i=0}^d)$ where $\{R_i\}_{i=0}^d$ is a partition of $X \times X$ whose adjacency matrices A_0, A_1, \ldots, A_d satisfies

(i)
$$R_0 = \{(x, x) \mid x \in X\}$$

(ii) $\forall i \in \{0, 1, \dots, d\}, \ R_i^{\top} = R_i$ where

$${R_i}^ op = \{(x,y)\in X imes X\mid (y,x)\in R_i\}.$$

(iii) $orall h, i,j \in \{0,1,\ldots,d\},$

 $|\{z \in X \mid (x, z) \in \mathbb{R}_i, (z, y) \in \mathbb{R}_j\}| = \text{constant}$

A symmetric association scheme is a pair $(X, \{R_i\}_{i=0}^d)$ where $\{R_i\}_{i=0}^d$ is a partition of $X \times X$ whose adjacency matrices A_0, A_1, \ldots, A_d satisfies

(i)
$$R_0 = \{(x, x) \mid x \in X\}$$

(ii) $\forall i \in \{0, 1, \dots, d\}, \ R_i^{\top} = R_i$ where

$${R_i}^ op = \{(x,y)\in X imes X\mid (y,x)\in R_i\}.$$

(iii)

$$A_iA_j = \sum_{h=0}^d p_{ij}^hA_h.$$

A symmetric association scheme is a pair $(X, \{R_i\}_{i=0}^d)$ where $\{R_i\}_{i=0}^d$ is a partition of $X \times X$ whose adjacency matrices A_0, A_1, \ldots, A_d satisfies

(i)
$$R_0 = \{(x, x) \mid x \in X\}$$

(ii) $\forall i \in \{0, 1, \dots, d\}, \ R_i^{\top} = R_i$ where

$${R_i}^ op = \{(x,y)\in X imes X\mid (y,x)\in R_i\}.$$

(iii)

$$A_iA_j=\sum_{h=0}^d p_{ij}^hA_h.$$

A symmetric association scheme is a pair $(X, \{R_i\}_{i=0}^d)$ where $\{R_i\}_{i=0}^d$ is a partition of $X \times X$ whose adjacency matrices A_0, A_1, \ldots, A_d satisfies

(i)
$$R_0 = \{(x, x) \mid x \in X\}$$

(ii) $\forall i \in \{0, 1, \dots, d\}, \ \frac{R_i^{\top}}{R_i} = \frac{R_i}{R_i}$ where

$${R_i}^ op = \{(x,y)\in X imes X\mid (y,x)\in R_i\}.$$

(iii)

$$A_iA_j=\sum_{h=0}^d p_{ij}^hA_h.$$

A symmetric association scheme

(i)
$$R_0 = \{(x, x) \mid x \in X\}$$

(ii) $\forall i \in \{0, 1, \dots, d\}, \quad A_i^\top = A_i$
(iii)

$$A_iA_j = \sum_{h=0}^d p_{ij}^hA_h.$$

A symmetric association scheme

(i)
$$R_0 = \{(x, x) \mid x \in X\}$$

(ii) $\forall i \in \{0, 1, \dots, d\}, A_i^\top = A_i$
(iii)

$$A_iA_j = \sum_{h=0}^d p_{ij}^hA_h.$$

A symmetric association scheme

(i)
$$A_0 = I$$

(ii) $\forall i \in \{0, 1, \dots, d\}, \quad A_i^\top = A_i$
(iii)

$$A_iA_j = \sum_{h=0}^{d} p_{ij}^hA_h.$$

A symmetric association scheme

(i)
$$egin{array}{lll} egin{array}{lll} A_0 &= I \ (ext{ii}) \ orall i \in \{0,1,\ldots,d\}, & A_i^ op = A_i \ (ext{iii}) \end{array}$$

$$A_iA_j = \sum_{h=0}^d p_{ij}^hA_h.$$

A symmetric association scheme is a pair $(X, \{R_i\}_{i=0}^d)$ where $\{R_i\}_{i=0}^d$ is a partition of $X \times X$ whose adjacency matrices A_0, A_1, \ldots, A_d satisfies

(i)
$$A_0 = I$$

(ii) $\forall i \in \{0, 1, \dots, d\}, \quad A_i^{ op} = A_i$
(iii)

$$A_iA_j=\sum_{h=0}^a p_{ij}^hA_h.$$

 $(\mathsf{iv}) \ A_0 + A_1 + \dots + A_d = J$

Definition A symmetric association scheme is a pair $(X, \{R_i\}_{i=0}^d)$ whose adjacency matrices A_0, A_1, \dots, A_d satisfies (i) $A_0 = I$ (ii) $\forall i \in \{0, 1, \dots, d\}, \quad A_i^\top = A_i$ (iii)

$$A_iA_j=\sum_{h=0}^u p_{ij}^hA_h.$$

 $(\mathsf{iv}) \ A_0 + A_1 + \dots + A_d = J$

A symmetric association scheme is a pair $(X, \{R_i\}_{i=0}^d)$ whose adjacency matrices A_0, A_1, \ldots, A_d satisfies (i) $A_0 = I$ (ii) $\forall i \in \{0, 1, \ldots, d\}, \quad A_i^\top = A_i$ (iii) $A_i A_j = \sum_{i=0}^d p_{ij}^h A_h.$

(iv) $A_0 + A_1 + \dots + A_d = J$

 $\mathcal{A} = \langle A_0, A_1, \dots, A_d \rangle = \langle \overline{E_0, E_1, \dots, E_d} \rangle.$

$$egin{aligned} A_i \circ A_j &= \delta_{ij} A_i, \ A_i A_j &= \sum_{h=0}^d p_{ij}^h A_h, \ E_i E_j &= \delta_{ij} E_i, \ E_i \circ E_j &= rac{1}{n} \sum_{h=0}^d q_{ij}^h E_h, \ A_j &= \sum_{i=0}^d P_{ij} E_i, \ E_j &= rac{1}{n} \sum_{i=0}^d Q_{ij} A_i, \ E_0 &= rac{1}{n} J. \end{aligned}$$



$$\blacksquare A_1 = \begin{pmatrix} 0 & 1 & 1 & 0 \\ 1 & 0 & 0 & 1 \\ 1 & 0 & 0 & 1 \\ 0 & 1 & 1 & 0 \end{pmatrix}, \ A_2 = \begin{pmatrix} 0 & 0 & 0 & 1 \\ 0 & 0 & 1 & 0 \\ 0 & 1 & 0 & 0 \\ 1 & 0 & 0 & 0 \end{pmatrix},$$

٠

$$\circ E_j = - \sum_{h=0} q_{ij}^n$$

$A_j = \sum_{i=0}^d P_{ij}E_i \implies A_jE_0 = P_{0j}E_0 \implies A_jJ = P_{0j}J.$

$$A_j = \sum_{i=0}^d P_{ij} E_i \implies A_j E_0 = P_{0j} E_0 \implies A_j J = P_{0j} J.$$

$$A_j = \sum_{i=0}^d P_{ij}E_i \implies A_jE_0 = P_{0j}E_0 \implies A_jJ = P_{0j}J.$$

$$E_i = rac{1}{n} \sum_{j=0}^d Q_{ji} A_j \implies E_i \circ oldsymbol{A_0} = rac{1}{n} Q_{0i} oldsymbol{A_0}$$

$$A_j = \sum_{i=0}^d P_{ij}E_i \implies A_jE_0 = P_{0j}E_0 \implies A_jJ = P_{0j}J.$$

$$egin{aligned} E_i &= rac{1}{n} \sum_{j=0}^d Q_{ji} A_j \implies E_i \circ oldsymbol{A}_0 = rac{1}{n} Q_{0i} oldsymbol{A}_0 \ \implies E_i \circ oldsymbol{I} = rac{1}{n} Q_{0i} oldsymbol{I} \end{aligned}$$

$$A_j = \sum_{i=0}^d P_{ij}E_i \implies A_jE_0 = P_{0j}E_0 \implies A_jJ = P_{0j}J.$$

$$egin{aligned} E_i &= rac{1}{n} \sum_{j=0}^d Q_{ji} A_j \implies E_i \circ A_0 = rac{1}{n} Q_{0i} A_0 \ \implies E_i \circ I = rac{1}{n} Q_{0i} I \end{aligned}$$

 $m_i = \operatorname{rank} E_i$

$$A_j = \sum_{i=0}^d P_{ij}E_i \implies A_jE_0 = P_{0j}E_0 \implies A_jJ = P_{0j}J.$$

$$egin{aligned} E_i &= rac{1}{n} \sum_{j=0}^d Q_{ji} A_j \implies E_i \circ A_0 = rac{1}{n} Q_{0i} A_0 \ \implies E_i \circ I = rac{1}{n} Q_{0i} I \end{aligned}$$

 $m_i = \operatorname{rank} E_i = \operatorname{tr} E_i$ (since $E_i^2 - E_i = 0$)

$$A_j = \sum_{i=0}^d P_{ij}E_i \implies A_jE_0 = P_{0j}E_0 \implies A_jJ = P_{0j}J.$$

$$egin{aligned} E_i &= rac{1}{n} \sum_{j=0}^d Q_{ji} A_j \implies E_i \circ A_0 = rac{1}{n} Q_{0i} A_0 \ \implies E_i \circ I = rac{1}{n} Q_{0i} I \end{aligned}$$

 $m_i = \operatorname{rank} E_i = \operatorname{tr} E_i$ (since $E_i^2 - E_i = 0$)
$$A_j = \sum_{i=0}^d P_{ij}E_i \implies A_jE_0 = P_{0j}E_0 \implies A_jJ = P_{0j}J.$$

$$egin{aligned} E_i &= rac{1}{n} \sum_{j=0}^d Q_{ji} A_j \implies E_i \circ A_0 = rac{1}{n} Q_{0i} A_0 \ \implies E_i \circ I = rac{1}{n} Q_{0i} I \end{aligned}$$

 $egin{aligned} m{m}_i &= \mathrm{rank}\, E_i = \,\mathrm{tr}\, E_i & (\mathrm{since}\, E_i^2 - E_i = 0) \ &= \mathrm{tr}(E_i \circ I) \end{aligned}$

$$A_j = \sum_{i=0}^d P_{ij}E_i \implies A_jE_0 = P_{0j}E_0 \implies A_jJ = P_{0j}J.$$

$$egin{aligned} E_i &= rac{1}{n} \sum_{j=0}^d Q_{ji} A_j \implies E_i \circ A_0 = rac{1}{n} Q_{0i} A_0 \ \implies E_i \circ I = rac{1}{n} Q_{0i} I \end{aligned}$$

$$egin{aligned} egin{aligned} m{m}_i &= ext{rank}\, E_i &= ext{tr}\, E_i &(ext{since}\, E_i^2 - E_i = 0) \ &= ext{tr}(E_i \circ I) = ext{tr}(rac{1}{n}Q_{0i}I) \end{aligned}$$

$$A_j = \sum_{i=0}^d P_{ij}E_i \implies A_jE_0 = P_{0j}E_0 \implies A_jJ = P_{0j}J.$$

$$egin{aligned} E_i &= rac{1}{n} \sum_{j=0}^d Q_{ji} A_j \implies E_i \circ A_0 = rac{1}{n} Q_{0i} A_0 \ \implies E_i \circ I = rac{1}{n} Q_{0i} I \end{aligned}$$

$$egin{aligned} egin{aligned} m{m}_i &= ext{rank}\, E_i &= ext{tr}\, E_i &(ext{since}\, E_i^2 - E_i = 0)\ &= ext{tr}(E_i \circ I) = ext{tr}(rac{1}{n}Q_{0i}I) \end{aligned}$$

$$A_j = \sum_{i=0}^d P_{ij}E_i \implies A_jE_0 = P_{0j}E_0 \implies A_jJ = P_{0j}J.$$

$$egin{aligned} E_i &= rac{1}{n} \sum_{j=0}^d Q_{ji} A_j \implies E_i \circ A_0 = rac{1}{n} Q_{0i} A_0 \ \implies E_i \circ I = rac{1}{n} Q_{0i} I \end{aligned}$$

$$egin{aligned} egin{aligned} m{m}_i &= ext{rank}\, E_i &= ext{tr}\, E_i &(ext{since}\, E_i^2 - E_i = 0)\ &= ext{tr}(E_i \circ I) = ext{tr}(rac{1}{n} Q_{0i} I) = Q_{0i} \end{aligned}$$

$$A_j = \sum_{i=0}^d P_{ij}E_i \implies A_jE_0 = P_{0j}E_0 \implies A_jJ = P_{0j}J.$$

$$egin{aligned} E_i &= rac{1}{n} \sum_{j=0}^d Q_{ji} A_j \implies E_i \circ A_0 = rac{1}{n} Q_{0i} A_0 \ \implies E_i \circ I = rac{1}{n} Q_{0i} I \end{aligned}$$

$$egin{aligned} m_i &= \operatorname{rank} E_i = \operatorname{tr} E_i & (\operatorname{since} E_i^2 - E_i = 0) \ &= \operatorname{tr}(E_i \circ I) = \operatorname{tr}(rac{1}{n}Q_{0i}I) = Q_{0i} \ &= ext{``multiplicity''} of the i th common circonvalue} \end{aligned}$$

= "multiplicity" of the *i*-th common eigenvalue



$$rac{P_{jh}}{k_h}=rac{Q_{hj}}{m_j}.$$

Lemma

$$rac{P_{jh}}{k_h} = rac{Q_{hj}}{m_j}.$$

Proof.

Compute $\operatorname{tr} A_h E_j$ in two ways:

$$egin{aligned} &= \mathrm{tr}\left(\sum_{i=0}^d P_{ih}E_i
ight)E_j &= A_h\left(rac{1}{n}\mathrm{tr}\sum_{i=0}^d Q_{ij}A_i
ight) \ &= \mathrm{tr}\,P_{jh}E_j &= rac{1}{n}\sum_{i=0}^d Q_{ij}\,\mathrm{tr}(A_hA_i) \ &= P_{jh}m_j. &= rac{1}{n}\sum_{i=0}^d Q_{ij}nk_i\delta_{hi} \ &= Q_{hj}k_h. \end{aligned}$$

Note

$$\operatorname{tr}(A_hA_i) = \operatorname{tr}(A_hA_i^ op) = nk_i\delta_{hi}$$

$$n\delta_{ij}=(PQ)_{ij}=\sum_{h=0}^d {P_{ih}Q_{hj}}=rac{1}{m_i}\sum_{h=0}^d {Q_{hi}Q_{hj}k_h}$$

$$n \delta_{ij} = (PQ)_{ij} = \sum_{h=0}^{d} P_{ih}Q_{hj} = \frac{1}{m_i} \sum_{h=0}^{d} Q_{hi}Q_{hj}k_h$$

column vectors of Q are "orthogonal"

$$n \delta_{ij} = (PQ)_{ij} = \sum_{h=0}^{d} P_{ih} Q_{hj} = \frac{1}{m_i} \sum_{h=0}^{d} Q_{hi} Q_{hj} k_h$$

column vectors of Q are "orthogonal"
$$n \delta_{ij} = (QP)_{ij} = \sum_{h=0}^{d} Q_{ih} P_{hj} = \frac{1}{k_i} \sum_{h=0}^{d} P_{hi} P_{hj} m_h$$

$$n \delta_{ij} = (PQ)_{ij} = \sum_{h=0}^{d} P_{ih}Q_{hj} = \frac{1}{m_i} \sum_{h=0}^{d} Q_{hi}Q_{hj}k_h$$

column vectors of Q are "orthogonal"
$$n \delta_{ij} = (QP)_{ij} = \sum_{h=0}^{d} Q_{ih}P_{hj} = \frac{1}{k_i} \sum_{h=0}^{d} P_{hi}P_{hj}m_h$$

column vectors of P are "orthogonal"

$$F_j = rac{n}{m_j} E_j = \sum_{i=0}^d rac{Q_{ij}}{Q_{0j}} A_i \in \langle A_0, \dots, A_d
angle$$

is positive semidefinite, diagonals = 1, rank = m_j .

.

$$F_j = rac{n}{m_j} E_j = \sum_{i=0}^d rac{Q_{ij}}{Q_{0j}} A_i \in \langle A_0, \dots, A_d
angle$$

is positive semidefinite, diagonals = 1, rank = m_j .

.

 $\exists B: \ n imes m_j$ matrix such that $BB^ op = F_j$

$$F_j = rac{n}{m_j} E_j = \sum_{i=0}^d rac{Q_{ij}}{Q_{0j}} A_i \in \langle A_0, \dots, A_d
angle$$

is positive semidefinite, diagonals = 1, rank = m_j .

.

$$\exists B: n \times m_j \text{ matrix such that } BB^{\top} = F_j$$

 $\implies b_x: x \text{-th row of } B, \ \|b_x\|^2 = 1,$

$$F_{j} = rac{n}{m_{j}}E_{j} = \sum_{i=0}^{d}rac{Q_{ij}}{Q_{0j}}A_{i} \in \langle A_{0}, \ldots, A_{d}
angle$$

is positive semidefinite, diagonals = 1, rank = m_j .

$$\exists B: n imes m_j ext{ matrix such that } BB^{ op} = F_j$$

 $\implies b_x: x ext{-th row of } B, \ \|b_x\|^2 = 1,$
 $b_x \cdot b_y = (F_j)_{xy}$

$$F_{j} = rac{n}{m_{j}}E_{j} = \sum_{i=0}^{d}rac{Q_{ij}}{Q_{0j}}A_{i} \in \langle A_{0}, \dots, A_{d}
angle$$

is positive semidefinite, diagonals = 1, rank = m_j .

$$\exists B: n imes m_j ext{ matrix such that } BB^+ = F_j \ \Longrightarrow \ b_x: x ext{-th row of } B, \ \|b_x\|^2 = 1, \ b_x \cdot b_y = (F_j)_{xy} ext{ depends only on } h ext{ with } (x,y) \in R_h$$

$$F_j = rac{n}{m_j} E_j = \sum_{i=0}^d rac{Q_{ij}}{Q_{0j}} A_i \in \langle A_0, \dots, A_d
angle$$

is positive semidefinite, diagonals = 1, rank = m_j .

$$\exists B: n imes m_j ext{ matrix such that } BB^+ = F_j \ \Longrightarrow \ b_x: x ext{-th row of } B, \ \|b_x\|^2 = 1, \ b_x \cdot b_y = (F_j)_{xy} ext{ depends only on } h ext{ with } (x,y) \in R_h \ \{b_x \mid x \in X\} \subset S^{m_j - 1} \quad ext{unit sphere}$$

• Complete graphs. $\mathcal{A} = \langle A_0 = I, A_1 = J - I \rangle$.

- Complete graphs. $\mathcal{A} = \langle A_0 = I, A_1 = J I \rangle$.
- Complete bipartite graph $K_{m,m}$.

$$\mathcal{A}=\langle A_0=I,A_1=A,A_2=J-A-I
angle.$$



$$(m = 3).$$

• Polygons. $A = C + C^{\top}$, where

$$C = egin{bmatrix} 0 & 1 & 0 \ & \ddots & \ddots & \ & & \ddots & 1 \ 1 & & 0 \end{bmatrix}$$

• Polygons. $A = C + C^{\top}$, where

$$C = egin{bmatrix} 0 & 1 & 0 \ & \ddots & \ddots & \ & & \ddots & 1 \ 1 & & 0 \end{bmatrix}$$

$$\mathcal{A} = egin{cases} \langle I, C+C^ op, C^2+(C^ op)^2, \dots, C^m+(C^ op)^m
angle \ ((2m+1) ext{-gon}), \ \langle I, C+C^ op, C^2+(C^ op)^2, \dots, C^m
angle \ (2m ext{-gon}). \end{cases}$$



• Let F be a finite set with $q \ge 2$ elements, and set $X = F^d$. Then X is a metric space with respect to the Hamming distance

$$d_H(x,y) = |\{i \mid i \in [d], \; x_i
eq y_i\}|,$$

• Let F be a finite set with $q \ge 2$ elements, and set $X = F^d$. Then X is a metric space with respect to the Hamming distance

$$d_H(x,y) = |\{i \mid i \in [d], \; x_i
eq y_i\}|,$$

Then $(X, \{R_i\}_{i=0}^d)$ is a symmetric association scheme called the Hamming scheme H(d, q), where

$$R_i=\{(x,y)\in X imes X\mid d_H(x,y)=i\}.$$

• Let F be a finite set with $q \ge 2$ elements, and set $X = F^d$. Then X is a metric space with respect to the Hamming distance

$$d_H(x,y) = |\{i \mid i \in [d], \; x_i
eq y_i\}|,$$

Then $(X, \{R_i\}_{i=0}^d)$ is a symmetric association scheme called the Hamming scheme H(d, q), where

$$R_i=\{(x,y)\in X imes X\mid d_H(x,y)=i\}.$$



 Let Ω be a finite set with v elements, and let X be the collection of all d-element subsets of Ω. Define

$$R_i=\{(x,y)\in X imes X\mid \ |x\cap y|=d-i\}.$$

 Let Ω be a finite set with v elements, and let X be the collection of all d-element subsets of Ω. Define

$$R_i=\{(x,y)\in X imes X\mid \; |x\cap y|=d-i\}.$$

Then $(X, \{R_i\}_{i=0}^d)$ is a symmetric association scheme called the Johnson scheme J(v, d).

 Let Ω be a finite set with v elements, and let X be the collection of all d-element subsets of Ω. Define

$$R_i=\{(x,y)\in X imes X\mid \ |x\cap y|=d-i\}.$$

Then $(X, \{R_i\}_{i=0}^d)$ is a symmetric association scheme called the Johnson scheme J(v, d).



J(4,2) has $\binom{4}{2} = 6$ vertices.

• Let G be a finite group of order n. Define $(A_g)_{xy} = \delta_{x,gy}$. Then $A_g A_h = A_{gh}$.

$$\mathcal{A} = \langle A_g \mid g \in G
angle$$

is a coherent algebra, defining an association scheme.

• Let G be a finite group of order n. Define $(A_g)_{xy} = \delta_{x,gy}$. Then $A_g A_h = A_{gh}$.

$$\mathcal{A} = \langle A_g \mid g \in G
angle$$

is a coherent algebra, defining an association scheme. $\boldsymbol{\mathcal{A}}$ is

commutative
$$\iff$$
 G is abelian,
symmetric \iff $g^2 = 1 \; (\forall g \in G).$

• If H is a subgroup of Aut G, with orbits $S_0 = \{1\}, S_1, \cdots S_d$, then

$$\mathcal{A}' = \langle \sum_{g \in S_i} A_g \mid 0 \leq i \leq d
angle$$

is also a coherent algebra, defining an association scheme.

• If H is a subgroup of Aut G, with orbits $S_0 = \{1\}, S_1, \cdots S_d$, then

$$\mathcal{A}' = \langle \sum_{g \in S_i} A_g \mid 0 \leq i \leq d
angle$$

is also a coherent algebra, defining an association scheme.

• $G = \mathbb{F}_p^m$ is an abelian group. Any subgroup H of Aut $G = GL(m, \mathbb{F}_p)$ gives rise to a commutative association scheme.

• If H is a subgroup of Aut G, with orbits $S_0 = \{1\}, S_1, \cdots S_d$, then

$$\mathcal{A}' = \langle \sum_{g \in S_i} A_g \mid 0 \leq i \leq d
angle$$

is also a coherent algebra, defining an association scheme.

- $G = \mathbb{F}_p^m$ is an abelian group. Any subgroup H of Aut $G = GL(m, \mathbb{F}_p)$ gives rise to a commutative association scheme.
- G = 𝔽_{p^m} is an abelian group. Any subgroup H of 𝒯_{p^m} containing −1 gives rise to a symmetric association scheme.

• Let *G* be a transitive permutation group. Let $\{R_i\}_{i=0}^d$ be the *G*-orbits on $X \times X$. Then $(X, \{R_i\}_{i=0}^d)$ is an association scheme.

- Let G be a transitive permutation group. Let $\{R_i\}_{i=0}^d$ be the G-orbits on $X \times X$. Then $(X, \{R_i\}_{i=0}^d)$ is an association scheme.
- Let $G = S_v$, the symmetric group. It acts on $\binom{[v]}{d}$, the collection of all *d*-elements subsets. This action gives the Johnson scheme J(v, d) by taking R_i 's to be orbits.

- Let G be a transitive permutation group. Let $\{R_i\}_{i=0}^d$ be the G-orbits on $X \times X$. Then $(X, \{R_i\}_{i=0}^d)$ is an association scheme.
- Let $G = S_v$, the symmetric group. It acts on $\binom{[v]}{d}$, the collection of all *d*-elements subsets. This action gives the Johnson scheme J(v, d) by taking R_i 's to be orbits.
- The primitive idempotents E_i is the projection onto the irreducible S_v -module corresponding to the partition $(v i, i) \vdash v$.

 Let Γ be a connected regular graph of diameter 2. If ∃λ, μ such that for any distinct vertices x, y,

#common neighbors of x, y

$$= egin{cases} oldsymbol{\lambda} & ext{if } x \sim y, \ oldsymbol{\mu} & ext{otherwise} \end{cases}$$

then Γ is called a strongly regular graph. Let A be the adjacency matrix. $\mathcal{A} = \langle I, A, J - I - A \rangle$.



μ

λ
Let Γ be a connected regular graph of diameter 2. If ∃λ, μ such that for any distinct vertices x, y,

#common neighbors of x,y

$$= egin{cases} oldsymbol{\lambda} & ext{if } x \sim y, \ oldsymbol{\mu} & ext{otherwise} \end{cases}$$

then Γ is called a strongly regular graph. Let A be the adjacency matrix. $\mathcal{A} = \langle I, A, J - I - A \rangle$.

• $H(2,q), J(v,2), K_{m,m}$

λ



μ

$$|\mathcal{P}|=v, \qquad \mathcal{B}\subset inom{\mathcal{P}}{k},$$

 $\forall \alpha,\beta \in \mathcal{P}, \, \alpha \neq \beta, \; \#\{B \in \mathcal{B} \mid \alpha,\beta \in B\} = \lambda.$

$$egin{aligned} |\mathcal{P}| &= v, \qquad \mathcal{B} \subset inom{\mathcal{P}}{k}, \ orall lpha, eta \in \mathcal{P}, \, lpha
eq eta, \, \#\{B \in \mathcal{B} \mid lpha, eta \in B\} = \lambda. \end{aligned}$$
 $(\mathcal{P}, \mathcal{B}) ext{ is quasi-symmetric if } \exists x, y ext{ with } x < y ext{ such that } B, B' \in \mathcal{B}, \ B
eq B' \implies |B \cap B'| \in \{x, y\}. \end{aligned}$

$$|\mathcal{P}| = v, \quad \mathcal{B} \subset {\mathcal{P} \choose k},$$

 $orall \alpha, \beta \in \mathcal{P}, \alpha \neq \beta, \ \#\{B \in \mathcal{B} \mid \alpha, \beta \in B\} = \lambda.$
 $(\mathcal{P}, \mathcal{B})$ is quasi-symmetric if $\exists x, y$ with $x < y$ such that
 $B, B' \in \mathcal{B}, \ B \neq B' \implies |B \cap B'| \in \{x, y\}.$
Then \mathcal{B} is a strongly regular graph:

$$E=\{\{B,B'\}\mid B,B'\in \mathcal{B},\;|B\cap B'|=y\}$$

$$|\mathcal{P}| = v, \quad \mathcal{B} \subset \binom{\mathcal{P}}{k},$$

 $orall lpha, eta \in \mathcal{P}, lpha
eq eta, \#\{B \in \mathcal{B} \mid lpha, eta \in B\} = \lambda.$
 $(\mathcal{P}, \mathcal{B})$ is quasi-symmetric if $\exists x, y$ with $x < y$ such that
 $B, B' \in \mathcal{B}, B \neq B' \implies |B \cap B'| \in \{x, y\}.$

Then \mathcal{B} is a strongly regular graph:

 $E=\{\{B,B'\}\mid B,B'\in \mathcal{B},\;|B\cap B'|=y\}$

 $\binom{\mathcal{P}}{k}$ = vertices of J(v, k), so

 $\mathcal{B} \subset J(v,k)$

association scheme \subset association scheme

A Steiner system $(\mathcal{P}, \mathcal{B})$ is a 2-(v, k, 1) design.

 $B,B'\in \mathcal{B},\ B
eq B'\implies |B\cap B'|\in\{0,1\}.$

So \mathcal{B} is a strongly regular graph:

 $E = \{\{B,B'\} \mid B,B' \in \mathcal{B}, \; |B \cap B'| = 1\}.$

A Steiner system $(\mathcal{P}, \mathcal{B})$ is a 2-(v, k, 1) design.

 $B,B'\in \mathcal{B},\;B\neq B'\implies |B\cap B'|\in\{0,1\}.$

So \mathcal{B} is a strongly regular graph:

 $E = \{\{B,B'\} \mid B,B' \in \mathcal{B}, \; |B \cap B'| = 1\}.$

Summary

- graphs leading to association schemes
- · primitive idempotents and spherical representations
- finite groups and actions
- some important subsets of association schemes